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A BRI DESEE T 0.25 | 0.25
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A SRR - s RAFIEY 7L v a v 1 0.17 0.17
A FesmEE - BRI T LT v a v T 0. 04 0. 04
A ZeutEE - kBRI S LT —a v 1 0. 04 0. 04
A FBRVEOFBFEMCR T D REEOERE & i 0.06 | 0.06 0.12
A FEEESHCNHEOH D FELDOTERA A b &R 0.1 0.1 0.2
AN FREE T 4=V U= 1 (AFL—}) 0.42 | 0.42
AN FREZETZ7 4 —NV =271 (AL —1) 0.42 | 0.42
A FRIET o — NV RU—2 1 (HR) 0.25 | 0.25
N FRXET 40—V RU—27 T (BUE) 0.25 | 0.25
A FRIE T 40—V RU—2 1T (ER) 0.17 | 0.17
A FRITE T 40—V RU—2 1T (HR) 0.17 | 0.17
gt 0.92 1.01 5. 68 7.61
B K =2 — A BESREE S iES 1 1
ZEFEMFIE 2 2
ANB#EESE I F— EHoER) 1 1
N FEERGmoHTEE DB | 1 1
A R A S T 4 — R (LPRERE) 0. 11 0.11
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R DHEY Y I —1 2 2
FEt I — TR 1 1
HERE - Do) T 0.17 0.17
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A BARLRGFGA 1 1
A Bgx v U 7 Fiam B 0.11 0.11
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HAEBHEHMEI -1 2 2
HERHAEHMEI -1 2 2
EEEY IS — e 1 1
ZEHEFIE 2 2
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A ZeutEE - SRR S LT —a v 0. 04 0. 04
A BES ORI D Mo F=EE & i 0.06 | 0.06 0.12
A INEREGERRE L i E N 0.5 0.5 1
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